Proposal Submitted By: Brandon Holmes

Company Name: ePlus Technology

Company SPIN: 143006553

Contact Name: Brandon Holmes Contact E-mail: bholmes@eplus.com

Contact Phone: 610-495-1242

		1	
School/Building Name	PEPPM Category	Manufacturer Name	Description (optional)
Manheim Township High School	Wireless	Hewlett Packard Enterprise	Aruba 3Y FC NBD Exch IAP 315 SVC [for JW813A]
Manheim Township High School	Wireless	Hewlett Packard Enterprise	Aruba 3Y FC 24x7 AW K12 1 Dev SVC [for JW605.
Manheim Township High School	Wireless	Hewlett Packard Enterprise	Aruba AW-K12-1 AirWave K-12 Bundle 1 Device L
Manheim Township High School	Wireless	Hewlett Packard Enterprise	Aruba Instant IAP-315 (US) 802.11n/ac Dual 2x2:
Manheim Township High School	Wireless		Installation of Access Points
Manheim Township High School	Cabling		Installation of new Category 6 plenum-rated net
Manheim Township High School	Cabling		Category 6 24-port patch panels
Manheim Township High School	Cabling		Category 6 plenum-rated RJ45 3' patch cables
Manheim Township High School	Cabling		Fiber patch cables - single-mode, duplex, 3 meter
Manheim Township High School	Cabling		Fiber patch cables - multimode, duplex, 3 meters
Manheim Township High School	Cabling		Fiber patch cables - multimode, duplex, 3 meters
Manheim Township High School	Wireless	Hewlett Packard Enterprise	Aruba AirWave DL360 Professional Edition Hardv
Manheim Township High School	Wireless	Hewlett Packard Enterprise	Aruba ClearPass-Airwave DL360 500W Spare Pow
Manheim Township High School	Wireless	Hewlett Packard Enterprise	PC-AC-NA North America AC Power Cord
Manheim Township High School	Wireless	Hewlett Packard Enterprise	Aruba 3Y FC NBD Exch AW DL360 PRO SVC [for J
Manheim Township High School	Switches	Hewlett Packard Enterprise	HP ProCurve 10-GbE X2-SC SR Optic
Manheim Township High School	Switches	Hewlett Packard Enterprise	HPE X132 10G SFP+ LC SR Transceiver
Manheim Township High School	Switches	Hewlett Packard Enterprise	Aruba 2920 2-port 10GbE SFP+ Module
Manheim Township High School	Switches	Hewlett Packard Enterprise	Aruba 2920-48G-POE+ 740W Switch
Manheim Township Middle School	Switches	Hewlett Packard Enterprise	HPE X132 10G SFP+ LC LR Transceiver
Manheim Township Middle School	Switches	Hewlett Packard Enterprise	ProCurve 10-GbE X2-SC SR Optic

Manheim Township Middle School	Wireless	Hewlett Packard Enterprise	Aruba 3Y FC NBD Exch IAP 315 SVC [for JW813A]
Manheim Township Middle School	Wireless	Hewlett Packard Enterprise	Aruba 3Y FC 24x7 AW K12 1 Dev SVC [for JW605/
Manheim Township Middle School	Wireless	Hewlett Packard Enterprise	Aruba AW-K12-1 AirWave K-12 Bundle 1 Device L
Manheim Township Middle School	Wireless	Hewlett Packard Enterprise	Aruba Instant IAP-315 (US) 802.11n/ac Dual 2x2:2
Manheim Township Middle School	Wireless		Installation of Access Points
Manheim Township Middle School	Cabling		Installation of new Category 6 plenum-rated netw
Manheim Township Middle School	Cabling		Category 6 48-port patch panels
Manheim Township Middle School	Cabling		Category 6 24-port patch panels
Manheim Township Middle School	Cabling		Category 6 plenum-rated RJ45 3' patch cables
Manheim Township Middle School	Cabling		Fiber patch cables - single-mode, duplex, 3 meters
Manheim Township Middle School	Cabling		Fiber patch cables - multimode, duplex, 3 meters,
Manheim Township Middle School	Switches	Hewlett Packard Enterprise	HPE X132 10G SFP+ LC LR Transceiver
Manheim Township Middle School	Switches	Hewlett Packard Enterprise	HPE X132 10G SFP+ LC LRM Transceiver
Manheim Township Middle School	Switches	Hewlett Packard Enterprise	HPE 24-port Gig-T PoE+ v2 zl Module
Manheim Township Middle School	Switches	Hewlett Packard Enterprise	HPE 8-port 10GbE SFP+ v2 zl Module
Manheim Township Middle School	Switches	Hewlett Packard Enterprise	Aruba 2920 2-port 10GbE SFP+ Module
Manheim Township Middle School	Switches	Hewlett Packard Enterprise	Aruba 2920-48G-POE+ 740W Switch
Landis Run Intermediate Center	Wireless	Hewlett Packard Enterprise	Aruba 3Y FC NBD Exch IAP 315 SVC [for JW813A]
Landis Run Intermediate Center	Wireless	Hewlett Packard Enterprise	Aruba 3Y FC 24x7 AW K12 1 Dev SVC [for JW605/
Landis Run Intermediate Center	Wireless	Hewlett Packard Enterprise	Aruba AW-K12-1 AirWave K-12 Bundle 1 Device L
Landis Run Intermediate Center	Wireless	Hewlett Packard Enterprise	Aruba Instant IAP-315 (US) 802.11n/ac Dual 2x2:2
Landis Run Intermediate Center	Wireless		Installation of Access Points
Landis Run Intermediate Center	Cabling		Installation of new Category 6 plenum-rated netw
Landis Run Intermediate Center	Cabling		Category 6 plenum-rated RJ45 3' patch cables
Landis Run Intermediate Center	Cabling		Fiber patch cables - single-mode, duplex, 3 meters
Landis Run Intermediate Center	Cabling		Fiber patch cables - multimode, duplex, 3 meters,
Landis Run Intermediate Center	Switches	Hewlett Packard Enterprise	HPE X132 10G SFP+ LC LR Transceiver
Landis Run Intermediate Center	Switches	Hewlett Packard Enterprise	HPE X132 10G SFP+ LC LRM Transceiver
Landis Run Intermediate Center	Switches	Hewlett Packard Enterprise	HPE 24-port Gig-T PoE+ v2 zl Module
Landis Run Intermediate Center	Switches	Hewlett Packard Enterprise	HPE 8-port 10GbE SFP+ v2 zl Module

Landis Run Intermediate Center	Switches	Hewlett Packard Enterprise	Aruba 2920 2-port 10GbE SFP+ Module
Landis Run Intermediate Center	Switches	Hewlett Packard Enterprise	Aruba 2920-48G-POE+ 740W Switch
Brecht Elementary	Wireless	Hewlett Packard Enterprise	Aruba 3Y FC NBD Exch IAP 315 SVC [for JW813A]
Brecht Elementary	Wireless	Hewlett Packard Enterprise	Aruba 3Y FC 24x7 AW K12 1 Dev SVC [for JW605.
Brecht Elementary	Wireless	Hewlett Packard Enterprise	Aruba AW-K12-1 AirWave K-12 Bundle 1 Device L
Brecht Elementary	Wireless	Hewlett Packard Enterprise	Aruba Instant IAP-315 (US) 802.11n/ac Dual 2x2:
Brecht Elementary	Wireless		Installation of Access Points
Brecht Elementary	Cabling		Installation of new Category 6 plenum-rated netw
Brecht Elementary	Cabling		Category 6 48-port patch panels
Brecht Elementary	Cabling		Category 6 24-port patch panels
Brecht Elementary	Cabling		Category 6 plenum-rated RJ45 3' patch cables
Brecht Elementary	Cabling		Fiber patch cables - multimode, duplex, 3 meters
Brecht Elementary	Switches	Hewlett Packard Enterprise	HPE X132 10G SFP+ LC LRM Transceiver
Brecht Elementary	Switches	Hewlett Packard Enterprise	Aruba 2920 2-port 10GbE SFP+ Module
Brecht Elementary	Switches	Hewlett Packard Enterprise	Aruba 2920-48G-POE+ 740W Switch
Bucher Elementary/District Office	Wireless	Hewlett Packard Enterprise	Aruba 3Y FC NBD Exch IAP 315 SVC [for JW813A]
Bucher Elementary/District Office	Wireless	Hewlett Packard Enterprise	Aruba 3Y FC 24x7 AW K12 1 Dev SVC [for JW605.
Bucher Elementary/District Office	Wireless	Hewlett Packard Enterprise	Aruba AW-K12-1 AirWave K-12 Bundle 1 Device L
Bucher Elementary/District Office	Wireless	Hewlett Packard Enterprise	Aruba Instant IAP-315 (US) 802.11n/ac Dual 2x2:
Bucher Elementary/District Office	Wireless		Installation of Access Points
Bucher Elementary/District Office	Cabling		Installation of new Category 6 plenum-rated network
Bucher Elementary/District Office	Cabling		Category 6 24-port patch panels
Bucher Elementary/District Office	Cabling		Category 6 plenum-rated RJ45 3' patch cables
Bucher Elementary/District Office	Cabling		Fiber patch cables - single-mode, duplex, 3 meter
Bucher Elementary/District Office	Switches	Hewlett Packard Enterprise	HPE X132 10G SFP+ LC LRM Transceiver
Bucher Elementary/District Office	Switches	Hewlett Packard Enterprise	Aruba 2920 2-port 10GbE SFP+ Module
Bucher Elementary/District Office	Switches	Hewlett Packard Enterprise	Aruba 2920-48G-POE+ 740W Switch
Neff Elementary	Wireless	Hewlett Packard Enterprise	Aruba 3Y FC NBD Exch IAP 315 SVC [for JW813A]

Neff Elementary	Wireless	Hewlett Packard Enterprise	Aruba 3Y FC 24x7 AW K12 1 Dev SVC [for JW605.
Neff Elementary	Wireless	Hewlett Packard Enterprise	Aruba AW-K12-1 AirWave K-12 Bundle 1 Device l
Neff Elementary	Wireless	Hewlett Packard Enterprise	Aruba Instant IAP-315 (US) 802.11n/ac Dual 2x2:
Neff Elementary	Wireless		Installation of Access Points
Neff Elementary	Cabling		Installation of new Category 6 plenum-rated net
Neff Elementary	Cabling		Category 6 plenum-rated RJ45 3' patch cables
Neff Elementary	Cabling		Fiber patch cables - multimode, duplex, 3 meters
Neff Elementary	Cabling		Fiber patch cables - single-mode, duplex, 3 mete
Neff Elementary	Cabling		Reroute and terminate 50' of single-mode fiber;
Neff Elementary	Switches	Hewlett Packard Enterprise	HPE X121 1G SFP LC SX Transceiver
Neff Elementary	Switches	Hewlett Packard Enterprise	HPE X132 10G SFP+ LC LR Transceiver
Neff Elementary	Switches	Hewlett Packard Enterprise	HPE X132 10G SFP+ LC LRM Transceiver
Neff Elementary	Switches	Hewlett Packard Enterprise	Aruba 2920 2-port 10GbE SFP+ Module
Neff Elementary	Switches	Hewlett Packard Enterprise	Aruba 2920-48G-POE+ 740W Switch
Nitrauer Elementary	Wireless	Hewlett Packard Enterprise	Aruba 3Y FC NBD Exch IAP 315 SVC [for JW813A]
Nitrauer Elementary	Wireless	Hewlett Packard Enterprise	Aruba 3Y FC 24x7 AW K12 1 Dev SVC [for JW605
Nitrauer Elementary	Wireless	Hewlett Packard Enterprise	Aruba AW-K12-1 AirWave K-12 Bundle 1 Device I
Nitrauer Elementary	Wireless	Hewlett Packard Enterprise	Aruba Instant IAP-315 (US) 802.11n/ac Dual 2x2:
Nitrauer Elementary	Wireless		Installation of Access Points
Nitrauer Elementary	Cabling		Installation of new Category 6 plenum-rated net
Nitrauer Elementary	Cabling		Category 6 48-port patch panels
Nitrauer Elementary	Cabling		Category 6 24-port patch panels
Nitrauer Elementary	Cabling		Category 6 plenum-rated RJ45 3' patch cables
Nitrauer Elementary	Cabling		Provide/install 6 strands 50 micron multimode fil
Nitrauer Elementary	Cabling		Fiber patch cables - multimode, duplex, 3 meters
Nitrauer Elementary	Switches	Hewlett Packard Enterprise	HPE X132 10G SFP+ LC SR Transceiver
Nitrauer Elementary	Switches	Hewlett Packard Enterprise	Aruba 2920 2-port 10GbE SFP+ Module
Nitrauer Elementary	Switches	Hewlett Packard Enterprise	Aruba 2920 2-port Stacking Module
Nitrauer Elementary	Switches	Hewlett Packard Enterprise	Aruba 2920 0.5m Stacking Cable
Nitrauer Elementary	Switches	Hewlett Packard Enterprise	Aruba 2920-48G-POE+ 740W Switch

Reidenbaugh Elementary	Wireless	Hewlett Packard Enterprise	Aruba 3Y FC NBD Exch IAP 315 SVC [for JW813A]	
Reidenbaugh Elementary	Wireless	Hewlett Packard Enterprise	Aruba 3Y FC 24x7 AW K12 1 Dev SVC [for JW605/	
Reidenbaugh Elementary	Wireless	Hewlett Packard Enterprise	Aruba AW-K12-1 AirWave K-12 Bundle 1 Device L	
Reidenbaugh Elementary	Wireless	Hewlett Packard Enterprise	Aruba Instant IAP-315 (US) 802.11n/ac Dual 2x2:	
Reidenbaugh Elementary	Wireless		Installation of Access Points	
Reidenbaugh Elementary	Cabling		Installation of new Category 6 plenum-rated netw	
Reidenbaugh Elementary	Cabling		Category 6 24-port patch panels	
Reidenbaugh Elementary	Cabling		Category 6 plenum-rated RJ45 3' patch cables	
Reidenbaugh Elementary	Cabling		Fiber patch cables - multimode, duplex, 3 meters	
Reidenbaugh Elementary	Switches	Hewlett Packard Enterprise	HPE X132 10G SFP+ LC LRM Transceiver	
Reidenbaugh Elementary	Switches	Hewlett Packard Enterprise	Aruba 2920 2-port 10GbE SFP+ Module	
Reidenbaugh Elementary	Switches	Hewlett Packard Enterprise	Aruba 2920 2-port Stacking Module	
Reidenbaugh Elementary	Switches	Hewlett Packard Enterprise	Aruba 2920 0.5m Stacking Cable	
Reidenbaugh Elementary	Switches	Hewlett Packard Enterprise	Aruba 2920-48G-POE+ 740W Switch	
Schaeffer Elementary	Wireless	Hewlett Packard Enterprise	Aruba 3Y FC NBD Exch IAP 315 SVC [for JW813A]	
Schaeffer Elementary	Wireless	Hewlett Packard Enterprise	Aruba 3Y FC 24x7 AW K12 1 Dev SVC [for JW605/	
Schaeffer Elementary	Wireless	Hewlett Packard Enterprise	Aruba AW-K12-1 AirWave K-12 Bundle 1 Device L	
Schaeffer Elementary	Wireless	Hewlett Packard Enterprise	Aruba Instant IAP-315 (US) 802.11n/ac Dual 2x2:2	
Schaeffer Elementary	Wireless		Installation of Access Points	
Schaeffer Elementary	Cabling		Installation of new Category 6 plenum-rated netv	
Schaeffer Elementary	Cabling		Category 6 24-port patch panels	
Schaeffer Elementary	Cabling		Category 6 plenum-rated RJ45 3' patch cables	
Schaeffer Elementary	Cabling		Fiber patch cables - multimode, duplex, 3 meters,	
Schaeffer Elementary	Switches	Hewlett Packard Enterprise	HPE X132 10G SFP+ LC LRM Transceiver	
Schaeffer Elementary	Switches	Hewlett Packard Enterprise	Aruba 2920 2-port 10GbE SFP+ Module	
Schaeffer Elementary	Switches	Hewlett Packard Enterprise	Aruba 2920 2-port Stacking Module	
Schaeffer Elementary	Switches	Hewlett Packard Enterprise	Aruba 2920 0.5m Stacking Cable	
Schaeffer Elementary	Switches	Hewlett Packard Enterprise	Aruba 2920-48G-POE+ 740W Switch	

ePlus works with our customers to follow either a BEAR or discount billing process for their before we will process an order leveraging discount billing (SPI). For the BEAR process, process making a purchase prior to E-rate approval (via purchase order using standard net terms), that Year 2017 with contract term dates of 04/01/2017 - 09/30/2018. E-rate-based pricing leve submittals to

Highlighted part J8436A is EOL, we replaced with part J9150A

		To be comple	eted by vendor		
			Extended Price		
Model Number	Estimated Quantity	Price/Unit	(quantity * unit price)	Equivalent Make	
H4UB1E	86	\$78.95	\$6,789.70		
H5HW6E	153	\$8.17	\$1,250.01		
JW605AAE	153	\$23.76	\$3,635.28		
JW813A	86	\$477.60	\$41,073.60		
	86		\$0.00	ePlus	
ated network drops for access points	36		\$0.00		
	2		\$0.00		
	81		\$0.00		
, 3 meter <mark>s, LC-SC</mark>	3		\$0.00		
3 meters <mark>, LC-LC</mark>	2		\$0.00		
3 meters <mark>, LC-SC</mark>	6		\$0.00		
JX918A	1	\$18,427.29	\$18,427.29		
JX922A	1	\$516.52	\$516.52		
JW124A	2	\$2.43	\$4.86		
H5AT0E	1	\$11,928.48	\$11,928.48		
J8436A	6		\$0.00	Hewlett Packard Enterpri	
J9150A	10	\$362.55	\$3,625.50		
J9731A	6	\$434.57	\$2,607.42		
J9836A	6	\$2,315.09	\$13,890.54		
J9151A	3	\$973.70	\$2,921.10		
J8436A	6		\$0.00	Hewlett Packard Enterpri	
			\$0.00		

H4UB1E	77	\$78.95	\$6,079.15	
H5HW6E	77	\$8.17	\$629.09	
JW605AAE	77	\$23.76	\$1,829.52	
JW813A	77	\$477.60	\$36,775.20	
	77		\$0.00	ePlus
m-rated network drops for access points	69		\$0.00	
	2		\$0.00	
	1		\$0.00	
	77		\$0.00	
olex, 3 meters, LC-SC	1		\$0.00	
ex, 3 meters, LC-SC	4		\$0.00	
J9151A	1	\$973.70	\$973.70	
J9152A	4	\$315.80	\$1,263.20	
J9534A	1	\$1,565.59	\$1,565.59	
J9538A	1	\$2,087.59	\$2,087.59	
J9731A	2	\$434.57	\$869.14	
J9836A	2	\$2,315.09	\$4,630.18	
			\$0.00	
H4UB1E	98	\$78.95	\$7,737.10	
H5HW6E	98	\$8.17	\$800.66	
JW605AAE	98	\$23.76	\$2,328.48	
JW813A	98	\$477.60	\$46,804.80	
	98		\$0.00	ePlus
m-rated network drops for access points	17		\$0.00	
	17		\$0.00	
olex, 3 meters, LC-SC	1		\$0.00	
ex, 3 meters <mark>, LC-LC</mark>	2		\$0.00	
J9151A	1	\$973.73	\$973.73	
J9152A	4	\$315.80	\$1,263.20	
J9534A	2	\$1,565.59	\$3,131.18	
J9538A	1	\$2,087.59	\$2,087.59	

	J9731A	2	\$434.57	\$869.14	
	J9836A	2	\$2,315.09	\$4,630.18	
				\$0.00	
	H4UB1E	33	\$78.95	\$2,605.35	
	H5HW6E	33	\$8.17	\$269.61	
	JW605AAE	33	\$23.76	\$784.08	
	JW813A	33	\$477.60	\$15,760.80	
		33		\$0.00	ePlus
m-rated nety	work drops for access points	30		\$0.00	
		1		\$0.00	
		1		\$0.00	
		33		\$0.00	
ex, 3 meters	, LC-SC	2		\$0.00	
	J9152A	2	\$315.80	\$631.60	
	J9731A	2	\$434.57	\$869.14	
	J9836A	2	\$2,315.09	\$4,630.18	
				\$0.00	
	H4UB1E	64	\$78.95	\$5,052.80	
	H5HW6E	64	\$8.17	\$522.88	
	JW605AAE	64	\$23.76	\$1,520.64	
	JW813A	64	\$477.60	\$30,566.40	
		64		\$0.00	ePlus
m-rated netv	work drops for access points	14		\$0.00	
		3		\$0.00	
		14		\$0.00	
olex, 3 meter	rs, LC-LC	2		\$0.00	
	J9152A	4	\$315.80	\$1,263.20	
	J9731A	2	\$434.57	\$869.14	
	J9836A	2	\$2,315.09	\$4,630.18	
				\$0.00	
	H4UB1E	38	\$78.95	\$3,000.10	

	H5HW6E	38	\$8.17	\$310.46	
			·		
	JW605AAE	38	\$23.76	\$902.88	
	JW813A	38	\$477.60	\$18,148.80	
				4	
		38		\$0.00	ePlus
m-rated netw	vork drops for access points	36		\$0.00	
		38		\$0.00	
ex, 3 meters		4		\$0.00	
olex, 3 meter		1		\$0.00	
mode fiber; 6	strands; SC connectors	1		\$0.00	
	J4858C	2	\$113.40	\$226.80	
	J9151A	1	\$973.70	\$973.70	
	J9152A	2	\$315.80	\$631.60	
	J9731A	3	\$434.57	\$1,303.71	
	J9836A	2	\$2,315.09	\$4,630.18	
				\$0.00	
	H4UB1E	43	\$78.95	\$3,394.85	
	H5HW6E	43	\$8.17	\$351.31	
	JW605AAE	43	\$23.76	\$1,021.68	
	JW813A	43	\$477.60	\$20,536.80	
			7	4 _0/000000	
		43		\$0.00	ePlus
m-rated nety	vork drops for access points	39		\$0.00	
	Torri di opo for docese pomis	1		\$0.00	
		1		\$0.00	
		43		\$0.00	
	er between MDF and IDF (approx 250')	1		\$0.00	
ex, 3 meters		2		\$0.00	
ex, 5 illeters		2	\$362.55	\$725.10	
	J9150A	2			
	J9731A	2	\$434.57	\$869.14	
	J9733A	2	\$443.27	\$886.54	
	J9734A	2	\$64.81	\$129.62	
	J9836A	3	\$2,315.09	\$6,945.27	

			\$0.00	
H4UB1E	48	\$78.95	\$3,789.60	
H5HW6E	48	\$8.17	\$392.16	
JW605AAE	48	\$23.76	\$1,140.48	
JW813A	48	\$477.60	\$22,924.80	
	48		\$0.00	ePlus
m-rated network drops for access points	39		\$0.00	
	3		\$0.00	
	48		\$0.00	
ex, 3 meters, LC-SC	4		\$0.00	
J9152A	4	\$315.80	\$1,263.20	
J9731A	3	\$434.57	\$1,303.71	
J9733A	4	\$443.27	\$1,773.08	
J9734A	4	\$64.81	\$259.24	
J9836A	6	\$2,315.09	\$13,890.54	
			\$0.00	
			\$0.00	
H4UB1E	31	\$78.95	\$2,447.45	
H5HW6E	31	\$8.17	\$253.27	
JW605AAE	31	\$23.76	\$736.56	
JW813A	31	\$477.60	\$14,805.60	
	31		\$0.00	ePlus
m-rated network drops for access points	31		\$0.00	
	1		\$0.00	
	31		\$0.00	
ex, 3 meters, LC-SC	2		\$0.00	
J9152A	2	\$393.68	\$787.36	
J9731A	2	\$434.57	\$869.14	
J9733A	3	\$443.27	\$1,329.81	
J9734A	3	\$64.81	\$194.43	
J9836A	4	\$2,315.09	\$9,260.36	

	Total:	\$450,734.65	
		Ψ,	

Optional Configuration of

E-Rate eligible purchases. All E-Rate approvals for the specific items being purchased through the program must be in place an order to ePlus under standard net terms for the entire amount and file a BEAR upon potential future approval by E-Rate. If t purchase is not returnable or cancellable in the event E-rate funding is not awarded. This proposal is valid for E-rate Funding raging most vendor programs is normally contingent upon the applicant selecting ePlus SPIN 143006553 on their form 471 or E-Rate, prior to the processing of an order.

	Only required for vendors submitting equivalent product line quotes (different tha	n Column C)
	Description	Equivalent Model
	Configuration of WAP, including travel and project management. Does not include cable,	
	installation of cable from closet to AP location or physical installation of AP.	ePlus
d Enterpris	Se	J9150A
'		
d Enterpris	se	J9150A

Configuration of WAP, including travel and project management. Does not include cable,	
	- Dl
installation of cable from closet to AP location or physical installation of AP.	ePlus
Configuration of WAP, including travel and project management. Does not include cable,	
	ePlus
installation of cable from closet to AP location or physical installation of AP.	erius

Configuration of WAP, including travel and project management. Does not include cable,	
installation of cable from closet to AP location or physical installation of AP.	ePlus
instantation of casic from closect to Air location of physical instantation of Air.	er ras
Configuration of WAP, including travel and project management. Does not include cable,	
	- Dl
installation of cable from closet to AP location or physical installation of AP.	ePlus

Configuration of WAP, including travel and project management. Does not include cable,	
installation of cable from closet to AP location or physical installation of AP.	ePlus
installation of cable from closet to Ar location of physical installation of Ar.	erius
Configuration of WAP, including travel and project management. Does not include cable,	
installation of cable from closet to AP location or physical installation of AP.	ePlus
installation of Cable Holli closet to Ar location of physical installation of Ar.	erius

Configuration of WAP, including travel and project management. Does not include cable,	
installation of cable from closet to AP location or physical installation of AP.	ePlus
installation of cable from closet to Ar location of physical installation of Ar .	erius
Configuration of WAP, including travel and project management. Does not include cable,	
installation of cable from closet to AP location or physical installation of AP.	ePlus

iguration of APs: \$58,050.00

		Extended Price
5 . # . 1	5	
Bundled Warranty	Price/Unit	(quantity * unit price)
	4005 40.1	40.577.00
NA	\$225 per Hour. 43 hours	\$9,675.00
NA	\$362.55	\$2,175.30
	100200	ψ=)=70.00
NA	\$362.55	\$2,175.30

NA	\$225 per Hour. 39 hours	\$8,775.00
		. ,
NA	\$225 per Hour. 49 hours	\$11,025.00

		4
NA	\$225 per Hour. 17 hours	\$3,825.00
NA	¢225 Have 22 have	ć7 200 00
NA	\$225 per Hour. 32 hours	\$7,200.00

NA	\$225 per Hour. 16 hours	\$3,600.00
NA	\$225 per Hour. 22 hours	\$4,950.00

NA	\$225 per Hour. 24 hours	\$5,400.00
NA	\$225 per Hour. 16 hours	\$3,600.00